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Question Type : MCQ
Question ID : 630680302984
Option 1 ID : 6306801178599
Option 2 ID : 6306801178600
Option 3 ID : 6306801178601
Option 4 ID : 6306801178598
Status : Answered
Chosen Option : 4
Marks : 2
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Question Type : MCQ
Question ID : 630680302999
Option 11D : 6306801178659
Option 2 1D : 6306801178660
Option 31D : 6306801178658
Option 4 1D : 6306801178661
Status : Answered
Chosen Option: 3
Marks : 2
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Question Type : MCQ
Question ID : 630680302976
Option 11D : 6306801178566
Option 2 ID : 6306801178568
Option 3 ID : 6306801178567
Option 4 ID : 6306801178569
Status : Answered
Chosen Option: 1
Marks : 2
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R (TFH) TN 27 (A1) 8T B el T Hell Heg gIVIR ATEl
Ans X 1.
x 2.
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X 3.
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Question Type : MCQ
Question ID : 630680302977
Option 11D : 6306801178571
Option 2 ID : 6306801178572
Option 3 ID : 6306801178570
Option 4 ID : 6306801178573
Status : Answered
Chosen Option : 4
Marks : 2
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X 2. TH AT HATH
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Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

McQ
630680302989
6306801178619
6306801178618
6306801178620
6306801178621
Answered

4

2
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Ans X 1. 5 AUTH FATSAGHIGS FHA.

w” 2.

X 3. ??-r HIUTETEN 99 SedTd 0T 93T Iar.
X 4. o€ AT STHT 3THAT.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

McQ
630680302993
6306801178636
6306801178637
6306801178635
6306801178634
Answered

2

2
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Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680302978
6306801178574
6306801178576
6306801178575
6306801178577
Answered

2

2
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Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680303000
6306801178663
6306801178664
6306801178662
6306801178665
Answered

4

2
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Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :
Marks :

McQ
630680302995
6306801178644
6306801178645
6306801178642
6306801178643
Answered

3

2
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Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:
Chosen Option :
Marks :

MCQ
630680302979
6306801178579
6306801178580
6306801178578
6306801178581
Answered

3

2
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Question Type : MCQ
Question ID : 630680302994
Option 11D : 6306801178641
Option 2 ID : 6306801178640
Option 31D : 6306801178638
Option 4 1D : 6306801178639
Status : Answered
Chosen Option: 2
Marks : 2
Q.12 ﬁ . n
™
Ans : .
ol ;qéaamﬁqqm
x 2 §"i’I'IT
X 3. %ﬁlﬂ' 9RAMH
X 4 ?;I'U'ﬁ'
Question Type : MCQ
Question ID : 630680302996
Option 11D : 6306801178647
Option 2 ID : 6306801178648
Option 31D : 6306801178649
Option 4 ID : 6306801178646
Status : Answered
Chosen Option : 1
Marks : 2
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Question Type :
: 630680302980

: 6306801178585
: 6306801178583
Option 31D :

Question ID
Option 1 ID
Option 2 ID

Option 4 ID
Status

MCQ

6306801178584

: 6306801178582

: Answered

Chosen Option :
Marks :

3
2
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Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680302983
6306801178597
6306801178594
6306801178595
6306801178596
Answered

1

2
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Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680302998
6306801178656
6306801178655
6306801178654
6306801178657
Answered

3

0
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Ans
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X 5. SHHATULH - FTA Hoaled

X 4. 3amerel FIET - HW

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680302997
6306801178651
6306801178653
6306801178652
6306801178650
Answered

2

2
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Ans 1 a-iv, b-iii, c-i, d-ii
X 2. a-i, b-iii, c-iv, d-ii
X 3 a-iv, b-v, c-i, d-ii

X 4 a-i, b-ii, c-v, d-iii

Question Type :
Question ID :

Option 1 ID
Option 2 ID

Option 4 ID

Chosen Option

MCQ
630680302992

: 6306801178632
: 6306801178633
Option 31D :

6306801178630

: 6306801178631
Status:
1
Marks :

Answered

2
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Question Type :
Question ID :

: 6306801178612

: 6306801178610

: 6306801178611

: 6306801178613

: Answered

03

12

Option 11D
Option 2 ID
Option 3 ID
Option 4 ID
Status

Chosen Option
Marks

MCcQ
630680302987




Q.19

‘3{ETMET ST VU IFTIRI=ET IFaT 3TAET 4.

AN X aaTe RreTea TEeaTe el =aT 3eET FTeT HTem.

o 2.
TAR 2T BT AT Tgare JgaT=dl FMET FHIeT e,
X 3

TTET el T Tgard [JUTET=ar 3EER FeT AT gha.

X 4 YA 94r=dT HEITHEIT IT==aT 3EMEY Fer a4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680302991
6306801178628
6306801178627
6306801178626
6306801178629
Answered

2

2
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Ans

o 1. 915
X 2. =TdCT
X3 FgEg
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Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680302985
6306801178604
6306801178602
6306801178603
6306801178605
Answered

1

2
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Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

: Answered

Chosen Option :

Marks :

Status

MCQ
630680302988
6306801178614
6306801178615
6306801178616
6306801178617

1
2
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Ans

X 1. g Hell Sr=i=old.

V2 S-S e AT g
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Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680302982
6306801178592
6306801178591
6306801178590
6306801178593
Answered

2

2
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Question Type : MCQ
Question ID : 630680302986
Option 11D : 6306801178606
Option 2 1D : 6306801178608
Option 31D : 6306801178609
Option 4 ID : 6306801178607
Status : Answered
Chosen Option: 3
Marks : 2
a4 3797 ofery
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« 2 gredr §¢ T
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Question Type : MCQ
Question ID : 630680302990
Option 11D : 6306801178624
Option 2 ID : 6306801178623
Option 31D : 6306801178625
Option 4 ID : 6306801178622
Status : Answered
Chosen Option : 2
Marks : 2
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Question Type : MCQ
Question ID : 630680302981
Option 11D : 6306801178586
Option 2 ID : 6306801178588
Option 3 1D : 6306801178589
Option 4 ID : 6306801178587
Status : Answered
Chosen Option : 1
Marks : 2
Section : English Language
Q.1 Select the most appropriate meaning of the given idiom.
Let the cat out of the bag
Ans X 1.To take a cat out of a bag
/X 2. To keep a secret
/X 3.To be curious about a secret
# 4. To reveal a secret
Question Type : MCQ
Question ID : 630680274547
Option 11D : 6306801066699
Option 2 ID : 6306801066701
Option 3 1D : 6306801066702
Option 4 ID : 6306801066700
Status : Answered

Chosen Option :
12

Marks

4




Q.2 Select the option that expresses the given sentence in passive voice.
He knows me.

Ans X 1.1have been known by him.
o 2. 1am known to him.
< 3.1 was known to him.

< 4.1am know by him.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680280643
6306801090809
6306801090810
6306801090808
6306801090807
Answered

2

2

Q.3 Select the most appropriate option to fill in the blank.

The organisers were
Ans X 1.anyway

overwhelmed by the audience support.

25 2. similarly

o 3. totally
X 4. finally

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680252329
630680979295
630680979296
630680979297
630680979298
Answered

3

2

Q.4 The given sentence has an error. Select the option which rectifies the error.

As soon as | reached home, it start to rained.
Ans X 1.had reached home

w¥ 2. started raining
#< 3.reach home

/X 4. was starting to rain

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680274428
6306801066224
6306801066225
6306801066223
6306801066226
Answered

2

2




Q.5 Select the option that expresses the given sentence in passive voice.

The famous musician composed the song.

Ans X 1. The famous musician was composing the song.
o 2. The song was composed by the famous musician.
/< 3.The song was being composed by the famous musician.

X 4. The song was composed by the musician.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

MCQ
630680274531
6306801066636
6306801066638
6306801066635
6306801066637
Answered

2

2

Q.6 Select the most appropriate option to fill in the blank.
Gini is intelligent, she?
Ans X 1.wasn't
X 2. hasn't
¥ 3.isn't
X 4. hadn't

Option 11D
Option 2 ID
Option 31D
Option 4 ID

Status

Question Type :
Question ID :
: 6306801066199
: 6306801066202
: 6306801066200
: 6306801066201
: Answered
Chosen Option :
Marks :

MCQ
630680274422

3
2

Q.7 Select the most appropriate option to fill in the blanks.

What is the difference between artificial network and conventional network?
Ans o 1.an;a

X 2.the;a
X 3.aan
X 4. an;the

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :
Marks :

Question Type :

MCQ
630680274539
6306801066667
6306801066668
6306801066669
6306801066670
Answered

1

2




Q.8 Select the most appropriate option to fill in the blank.

The city in the world is Tokyo.

Ans X 1.populous
o 2. most populous

/< 3. more populous

25 4. populousness little populous

Question Type : MCQ
Question ID : 630680274553
Option 11D : 6306801066723
Option 2 ID : 6306801066725
Option 3 1D : 6306801066724
Option 4 ID : 6306801066726
Status : Answered
Chosen Option: 2
Marks : 2
Q.9 Select the appropriate meaning of the given word.
Forbidden
Ans X 1. Authorised
< 2. Exclusive
< 3. Forlorn
o 4. Prohibited
Question Type : MCQ
Question ID : 630680280674
Option 1 ID : 6306801090934
Option 2 ID : 6306801090933
Option 31D : 6306801090931
Option 4 ID : 6306801090932
Status : Answered
Chosen Option : 4
Marks : 2
Q.10 Select the option with the correct spelling to replace the underlined word in the given
sentence.
The owner of this store is an old acquaintence of her.
Ans X 1.acqueintance
/5 2. accquaintence
o 3. acquaintance
X 4. acquantance
Question Type : MCQ
Question ID : 630680252300
Option 11D : 630680979182
Option 2 ID : 630680979180
Option 31D : 630680979181
Option 4 ID : 630680979179
Status : Answered
Chosen Option : 3
Marks : 2




Q.11 Select the most appropriate meaning of the given idiom.
On pins and needles

Ans X 1. Wholesome entertainment
< 2. Readiness to accept the inevitable
Z< 3. In an ecstatic condition

o 4.1n an agitated state of suspense

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680252918
630680981653
630680981652
630680981651
630680981654
Answered

3

0

Q.12 Select the most appropriate ANTONYM of the given word.

Malicious
Ans X 1.Beautiful

X 2. Altruistic
< 3. Powerful
" 4. Benevolent

Question Type :
Question ID :
Option 11D :
Option 21D :
Option31D:
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680280667
6306801090906
6306801090904
6306801090905
6306801090903
Answered

1

0

Q.13 Select the most appropriate option to fill in the blank.

The Prime Minister, a great
Ans X 1.orator;

o 2. orator,
#< 3. Orator
75 4. orator:

impressed the audience.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680252292
630680979149
630680979148
630680979147
630680979150
Answered

2

2




Q.14 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Had Soapy / not reached the avenues in time, / the villagers will have / lost their wealth.

Ans X 1.lost their wealth
X 2. not reached the avenues in time
#< 3. Had Soapy

w# 4. the villagers will have

Question Type : MCQ
Question ID : 630680280625
Option 11D : 6306801090738
Option 2 ID : 6306801090736
Option 3 1D : 6306801090735
Option 4 ID : 6306801090737
Status : Answered
Chosen Option: 4
Marks : 2
Q.15 Select the most appropriate option to fill in the blanks.
What is the difference between hash table and binary search tree in data
structures?
Ans o # 1. aa
X 2.a,an
X 3.the,a
X 4. a,the
Question Type : MCQ
Question ID : 630680280719
Option 11D : 6306801091114
Option 2 ID : 6306801091111
Option 3 ID : 6306801091112
Option 4 ID : 6306801091113
Status : Answered
Chosen Option: 1
Marks : 2
Q.16 Select the most appropriate synonym of the given word.
Respite
Ans X 1.Scope
" 2. Rest
< 3. Flavour
X 4. Summary
Question Type : MCQ
Question ID : 630680252545
Option 1 1D : 630680980159
Option 2 ID : 630680980162
Option 31D : 630680980161
Option 4 1D : 630680980160
Status : Answered
Chosen Option : 2
Marks : 2




Q.17 Select the most appropriate option to fill in the blank.
The author several best-selling novels.

Ans X 1.had been written

o 2. has written
25 3. will wrote

/5 4. have written

Question Type : MCQ
Question ID : 630680280717
Option 11D : 6306801091105
Option 2 ID : 6306801091103
Option 31D : 6306801091106
Option 4 1D : 6306801091104
Status : Answered
Chosen Option : 2
Marks : 2
Q.18 Select the most appropriate meaning of the given proverb.
Don't cry over spilled milk.
Ans X 1.To feel happy about something that has already happened
#< 2. To remain indifferent about something that has already happened
o 3. Not to feel sorry or sad about something that has already happened
/X 4. To feel sorry or sad about something that has already happened
Question Type : MCQ
Question ID : 630680274514
Option 11D : 6306801066570
Option 2 ID : 6306801066567
Option 3 1D : 6306801066568
Option 4 ID : 6306801066569
Status : Answered
Chosen Option: 3
Marks : 2
Q.19 Select the most appropriate past tense form of the verb ‘rise’ to fill in the blank.
The sun sharp at 5:30 a.m. in the morning.
Ans X 1.have risen
o 2. rose
Z< 3. had been risen
X 4.hadrose
Question Type : MCQ
Question ID : 630680280642
Option 11D : 6306801090804
Option 2 ID : 6306801090805
Option 3 1D : 6306801090806
Option 4 1D : 6306801090803
Status : Marked For Review

Chosen Option :
Marks :

1
0




Q.20 Select the most appropriate option to fill in the blank.

Cycling is a healthy, low-impact exercise that can be
from young children to older adults.

Ans X 1.enjoy

by people of all ages,

/X 2. enjoying
75 3. enjoyable
o 4. enjoyed
Question Type : MCQ
Question ID : 630680274421
Option 11D : 6306801066195
Option 2 ID : 6306801066197
Option 3 1D : 6306801066198
Option 4 1D : 6306801066196
Status : Answered
Chosen Option : 3
Marks : 0
Q.21 Select the most appropriate question tag to fill in the blank.
Even when we were living in the same city, you hardly visited us,
Ans " 1.did you?
< 2.doyou?
< 3.you did?
/< 4.you do?
Question Type : MCQ
Question ID : 630680274468
Option 1 ID : 6306801066386
Option 2 ID : 6306801066385
Option 31D : 6306801066383
Option 4 ID : 6306801066384
Status : Answered
Chosen Option : 1
Marks : 2
Q.22 Identify the error in the following sentence.
To get rest, Sarup does not work in Sundays.
Ans X 1.not
X 2. get
o 3.in
X 4.t0
Question Type : MCQ
Question ID : 630680280659
Option 11D : 6306801090873
Option 2 ID : 6306801090872
Option 31D : 6306801090874
Option 4 1D : 6306801090871
Status : Answered
Chosen Option : 2
Marks : 0




Q.23 Select the most appropriate preposition to fill in the blank.
The host opened the door and admitted the drama troupe

Ans X 1.towards
" 2.into
< 3. with
/< 4. across

the palatial bungalow.

Question Type : MCQ
Question ID : 630680252911
Option 11D : 630680981624
Option 2 ID : 630680981626
Option 31D : 630680981623
Option 4 ID : 630680981625
Status : Answered
Chosen Option : 2
Marks : 2

Q.24 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Studies have found that / people from cultures that embraced more collectivist ideals
thinking / happiness more in terms of harmony and contentment, / while more
individualistic-minded people connect it to feelings of exuberance and joy.

Ans o 1. people from cultures that embraced more collectivist ideals thinking
Z5 2. Studies have found that
#< 3. happiness more in terms of harmony and contentment

/5 4. while more individualistic-minded people connect it to feelings of exuberance and joy

Question Type : MCQ
Question ID : 630680274452
Option 11D : 6306801066320
Option 2 ID : 6306801066319
Option 3 ID : 6306801066321
Option 4 ID : 6306801066322
Status : Answered
Chosen Option: 3
Marks : 0




Q.25 Select the INCORRECTLY spelt word in the given sentence.

Ans

Tell me your favourite dessert between chocolate cake and jelly douhnut.

%" 1. Douhnut
/X 2. Chocolate
X 3. Dessert
X 4. Between

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

MCQ
630680274695
6306801067294
6306801067293
6306801067291
6306801067292
Answered

1

2

Section : General Knowledge

Q.1
Ans

Which of the following can be classified as polysaccharides?
X 1. Glucose, sucrose, lactose

< 2. Sucrose, lactose, fructose
/< 3. Ribose, deoxyribose, galactose

## 4. Starch, glycogen, cellulose

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680270152
6306801049860
6306801049862
6306801049861
6306801049859
Answered

4

2
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Ans
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75 2. CBI 3 ¥t
< 3.UPSC 3 sremer
< 4. = (NITI) smavma CEO

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680275620
6306801070991
6306801070992
6306801070993
6306801070994
Answered

1

2




Q.3 Wrelierdhl vl ‘TgRIE v amevor fafgs emg?
Ans X 1.96d9

X 2. R W
Wi 3. TN Uigd
< A USAPR TR
Question Type : MCQ
Question ID : 630680275241
Option 11D : 6306801069476
Option 2 ID : 6306801069478
Option 31D : 6306801069475
Option 4 ID : 6306801069477
Status : Answered
Chosen Option: 3
Marks : 2
Q.4 w@refierd<hl v e g wrdsagd wRaTa 1878 =1 e sifafgwmeraa 9 amg?
Ans & 1. R IRATATRIERT T TS AUTR T6L.
< 2. IR ST hetel! A WK ehs Mehd ATEId.
27X 3. R ST chetell A WET he AehdTd.
25 4. RATT Aied A Ao AT
Question Type : MCQ
Question ID : 630680278305
Option 1 ID : 6306801081577
Option 2 ID : 6306801081580
Option 3 ID : 6306801081579
Option 4 ID : 6306801081578
Status : Answered
Chosen Option : 3
Marks : 0
Q.5 #rf 2023 Aed FHI Wiefierdh! shivrear Aufife smusift Hefdea wRarar Twmeg (atlas of
India) GTeR HeT?
Ans X 1.
W 2. AT
X 3. feu=geH
X 4.3
Question Type : MCQ
Question ID : 630680275592
Option 11D : 6306801070879
Option 2 ID : 6306801070880
Option 31D : 6306801070881
Option 4 1D : 6306801070882
Status : Answered
Chosen Option : 2
Marks : 2




Q.6 @refierd<ht sturdt Arfaet sRaren mfgdt sifdwr sifdfemiaia=an yerdtezongT (disclosure)
TTBAAT ATEN?

Ans X 1. YTRATAT GrEH@ETER STOT TehTeHdeR sTeieh TRUTH Shomst Jrfge.
W 2. T SfeRT=aTer TTTeh SRUdTd 36 At Alfgdl.
< 3. dug= fAwiferRIET 9 oy Arfeet.
X 4. Irsare danfaes fhar snfdfes fRadderiar STy ulRomy sRomst Arfgedt.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680281067
6306801092503
6306801092506
6306801092505
6306801092504
Answered

2

2

Q.7 TTurehieaT faowtar ST Sivhar ¥ (refresh rate) i 3mg?
Ans X 1.40Hz

W 2.60 Hz
% 3.20Hz
7 4.200 Hz

Status

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

: Answered

Chosen Option :

Marks :

MCQ
630680275729
6306801071429
6306801071428
6306801071427
6306801071430

2
2

Q.8 ISUHSHAT I’TDE A I T o1ig, ol S, dei, o, S sendl ervoniaes
IoTeaTg! AnTReRIRf AeuTe Shet SITOTR AT,

Ans X 1. 81w¢ 22
X 2.9 12
o 3. 93 15
X 4. 37319

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680270105
6306801049674
6306801049671
6306801049672
6306801049673
Answered

3

2




Q.9 What was the theme of the third session of National Platform for Disaster Risk Reduction

held in March 2023?

Ans X 1. Traditional approach toward mitigating climate change
w#" 2. Building local resilience in a changing climate
25 3. Climate Change — A Global Concern

/X 4. Strategies to combat climate change

Question Type :
Question ID :
: 6306801070902
: 6306801070899
: 6306801070901
: 6306801070900
: Answered
Chosen Option :
Marks :

Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

MCQ
630680275597

3
0

Q.10 @Erefierdd v Wid=aaiAe o GuReT a<oriT fAfSa svarars! Qo afef-i gat=h

TATYAT hetl?
Ans X 1.7geg Mfdg s
25 2. gl TetSl A

X 3. ST&HUT RER FaATYRRR

W 4. ITGEd IB4d et

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680275222
6306801069400
6306801069401
6306801069399
6306801069402
Answered

4

2

Q.11 2023 =a1 @<t §f2ar fgarsst shier wda @refierd<h swivrar Tsa/denAa vRem gaffds

gauiued fSieefl?
Ans X 1.@eE
K 2. 7ERTE
X 3. FEs
o 4. ST 30T iR

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680275830
6306801071833
6306801071832
6306801071834
6306801071831
Answered

2

0




Q.12 Which of the following recommendations was NOT made by the Verma Committee on
Fundamental Duties?

Ans o 1. Establish the Co-operative Society
#< 2. Public officials should maintain honesty while in office
25 3. Integrity should be the main principle in the functioning of public office

#5 4. Holders of public office must be accountable for their decisions and actions
Fundamental Duties to the public

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

: Answered

Chosen Option :

:0

Status

Marks

MCQ
630680270104
6306801049670
6306801049667
6306801049669
6306801049668

4

Q.13 wReft=an AT=gaT gRUH FgUH SHIvr AT Uty uSdl?
X 1. ToRE
X 2. 7ERTE
X 3. doe

o 4. AT

Ans

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status

MCQ
630680270546
6306801051372
6306801051370
6306801051373
6306801051371

: Answered
Chosen Option :
Marks :

2
0

Q.14 fay wrA fRerdisrh @raaT @refierdd Fiorar a<ha &ei?
W 1. gAY TR

X 2. ST IHHEA 7T

< 3. GRBMIY TR

X 4. gdeaTy TR

Ans

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680278307
6306801081585
6306801081588
6306801081586
6306801081587
Answered

1

2




Q.15 MRAR eI Agdf smg=hg _ faean srenatfienél ugH R HiRoT s,
Ans & 1. T UEHR YRUT hedTed] IREUTYH 3 a8

X 2. I IEHR 9RO el dREUYH 5 a9
X 3. I UEHR YRUT el dREUTYH 4 a9
X 4. i TEUR YRUT heuTedT IREUTYH 6 I

Question Type : MCQ
Question ID : 630680275884
Option 11D : 6306801072048
Option 2 ID : 6306801072047
Option 31D : 6306801072050
Option 4 ID : 6306801072049
Status : Answered
Chosen Option: 1
Marks : 2

Q.16 Which city of Uttarakhand hosted the Second Anti-Corruption Working Group Meeting
(ACWG) of G-20 under the G20 Presidency of India in May 2023?

Ans X 1.Dehradun
o 2. Rishikesh
/< 3. Haldwani
75 4. Haridwar

Question Type : MCQ
Question ID : 630680275606
Option 11D : 6306801070937
Option 2 ID : 6306801070936
Option 31D : 6306801070938
Option 4 1D : 6306801070935
Status : Answered
Chosen Option : 1
Marks : 0

Q.17 ahivTeT 2AER Afafld SIrTfaes gie 28R qRehR (World Green Cities Award) 2022 fSieretr?
Ans o 1.EREE

X 2.9

X 3. Fictehmar

X 4378

Question Type : MCQ
Question ID : 630680269910
Option 11D : 6306801048894
Option 2 ID : 6306801048893
Option 31D : 6306801048891
Option 4 1D : 6306801048892
Status : Answered
Chosen Option: 1
Marks : 2




Q.18 2011 =1 STRIVHTHER WRATIH IV I5aTH! FAlheedr aaifed simga?

Ans X 1.7 TRl
X 2. faEr
< 3. ufgm Smer
W 4. RIS
Question Type : MCQ
Question ID : 630680270183
Option 1 ID : 6306801049984
Option 2 ID : 6306801049983
Option 31D : 6306801049986
Option 4 ID : 6306801049985
Status : Answered
Chosen Option : 4
Marks : 2
Q.19 wrei=n ufA« srmeear uene sfagel glvar urufes &Rt ardd Fior amg?
Ans X 1. AT ar=arEn ofget faeitereft ghomr tRenREEy
X 2. "TereT qdehdie T HiGaT FHTUNE UGNl §id STeedm
W 3. U TTeT A=A AT TS YeT
X 4. ST USRIGEA AR =< HSUATDS
Question Type : MCQ
Question ID : 630680270544
Option 1 ID : 6306801051365
Option 2 ID : 6306801051364
Option 3 ID : 6306801051363
Option 4 ID : 6306801051362
Status : Answered
Chosen Option : 1
Marks : 0
Q.20 1836 HeA TATUH AT SITHTHT HehTiAhT GR2AT @refieTd<hl shlvTeaT sa=hi=m dejer Tegdr?
Ans o 1. STARM UigaT
< 2. rfeETy e
X 3. GRHIY TR
X 4. UHAGHR SR
Question Type : MCQ
Question ID : 630680278306
Option 11D : 6306801081584
Option 2 ID : 6306801081582
Option 31D : 6306801081583
Option 4 ID : 6306801081581
Status : Answered

Chosen Option :
Marks :

1
2




Q.21 Which individual is credited with giving the term 'Meristem'?
Ans X 1.Francis Collins

/X 2. Andreas Vesalius
o 3. Nageli
< 4. Oswald Avery

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680270166
6306801049916
6306801049917
6306801049915
6306801049918
Answered

4

0

Q.22 Al Sifeciar 2022 ged, SC TSR 3MRETUT & 15% a<= fohell eererriudd arefavarard=n

STEATE HSR hedT 31T?
Ans X 1.28%
X 2.25%
W 3.17%
X 4.19%
Question Type : MCQ
Question ID : 630680275629
Option 11D : 6306801071030
Option 2 ID : 6306801071029
Option 3 ID : 6306801071027
Option 4 1D : 6306801071028
Status : Answered
Chosen Option : 4
Marks : 0
Q.23 Which of the following species shares a connection with the Olive ridley?
Ans X 1.Fish species
/5 2. Syngonium species
w# 3. Turtle species
/X 4. Pothosspecies
Question Type : MCQ
Question ID : 630680270128
Option 11D : 6306801049766
Option 2 ID : 6306801049765
Option 3 ID : 6306801049763
Option 4 ID : 6306801049764
Status : Answered
Chosen Option : 4
Marks : 0




Q.24 MR TSTHE T RIVET TG g1 UTfhTTd RITAR Feiear gl fafve weiaReien

ARTReReaT<aT gerpisft Gefdd smg?
Ans X 1.31=¢ 5
o 2. o ge 7
X 3.31=¢< 8
X 4. 31T 6
Question Type : MCQ
Question ID : 630680275868
Option 1 ID : 6306801071983
Option 2 ID : 6306801071985
Option 3 ID : 6306801071986
Option 4 ID : 6306801071984
Status : Answered
Chosen Option : 2
Marks : 2
Q.25 fdter S Tt shoia @refierddh FivreT derE-iar R wsaimsd Agarh g &e?
Ans X 1. WA=h dTerd
X 2. e ders
2 3. e Aareht dTars
W 4. SRR ders
Question Type : MCQ
Question ID : 630680270065
Option 11D : 6306801049512
Option 2 ID : 6306801049513
Option 3 ID : 6306801049511
Option 4 ID : 6306801049514
Status : Answered
Chosen Option: 2
Marks : 0
Section : General Intelligence
Q.1 gt fafe aerfgaR ‘CE4’ & 'HJ16' 2ft Hefda smg. @maverR, ‘QS6’ & ‘VX36' 2ff Heifda ama.
T AR SFERUT et ‘IK8’ g @refierdeht shemsft Heifda amg?
Ans X 1.MP64
7 2. MN64
< 3.NQ66
o 4.NP64
Question Type : MCQ
Question ID : 630680271608
Option 1 ID : 6306801055506
Option 2 ID : 6306801055504
Option 3 ID : 6306801055505
Option 4 ID : 6306801055507
Status : Answered
Chosen Option : 4
Marks : 2




Q.2 @refter ArforehT aehgean guf v usiRgrea (?) il AuiR ug Reear gafaiga Feast.

FW3, HS6, JQ9, LM12, ?, PG18

Ans X 1.0L21
X 2.0J15
o 3.NK15
X 4.NH21

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :

Option 41D :
Status :

Chosen Option :
Marks :

McQ
630680277025
6306801076596
6306801076593
6306801076594
6306801076595
Answered

3

2

Q.3 R arfeen adhgear gof glvarend, usifasgren (?) smft e vataidd wiorar vata sren
ifgst?

IH57 HJ49 JG42 GK36 ?

Ans o 1.KF31
X 2.KP31
< 3.KG31
X 4.1632

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

MCQ
630680277042
6306801076663
6306801076664
6306801076661
6306801076662
Answered

1

2




Q.4 e/ /A enfor s dergde aran. Rummsd R aridedt & ammaaot 7 quaidef
T ST STEese, A<t ot T ong 3 e e, R fArsrufddh Svrar/a e
fremmisht adema sng/smad d swar.
faum : g <tde, saTer 3@

Il THTA, THUS 3MTed.
freerdf (1): o efaet, U amdq.
fArere (11): 9 a2, fde emaa.

Ans X 1. fseRd (1) anfor (11) € gt aehera smed
o 2. et (1) feham fRrenef (11) Geht wengt deheiTra g,
X 3. e Frse (1) qeheTa omR.
X 4. g s (1) adhed ong.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680272659
6306801059198
6306801059197
6306801059196
6306801059195
Answered

2

2

Q.5 A 3nfor B a1 €9 ®Hahiafie 3iar 778 km 3112, #ig— A @ B wfd=m wams 84 km/h a1 amm= urR
et ATfOT 56 km/h =T TehEHTE R A TR URddl. €YUl TATETERIT-ET Qrar @RI & 2iter.

Ans X 1.65.2km/h
W 2.67.2km/h
X 3.68.2 km/h
% 4.66.2 km/h

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680277294
6306801077625
6306801077627
6306801077628
6306801077626
Answered

4

0




Q.6 @l RIS} i gataia g fafre Tt g snfor s @i g e 9ar gl womEr

iy @ Terd 99d A1gi?
Ans X 1.PXB
X 2.G0S
«* 3. TBH
X 4.JRV
Question Type : MCQ
Question ID : 630680271624
Option 11D : 6306801055569
Option 2 ID : 6306801055568
Option 3 1D : 6306801055570
Option 4 ID : 6306801055571
Status : Answered
Chosen Option : 3
Marks : 2
Q.7 fed<ar mifedhaed ? =1 @ & eme urf@st?
1,5,22,91,368,?
Ans " 1.1477
X 2.1479
< 3.1478
X 4.1472
Question Type : MCQ
Question ID : 630680272795
Option 11D : 6306801059740
Option 2 ID : 6306801059742
Option 3 1D : 6306801059741
Option 4 1D : 6306801059739
Status : Answered
Chosen Option: 1
Marks : 2
Q.8 WA TRATA 5% &= ¥1,232 sicha afAet. 3 quliar warer forelt Torps Ad«?
Ans X 1.%1,285.80
f 2.%1,416.80
X 3.32,145.80
/< 4.31,848.80
Question Type : MCQ
Question ID : 630680287183
Option 11D : 6306801116640
Option 2 ID : 6306801116642
Option 3 ID : 6306801116641
Option 4 1D : 6306801116639
Status : Answered
Chosen Option : 2
Marks : 2




Q.9 SR+ 3for '~ Tift srEeATage Shefl oY ‘x’ Sifor '+’ Ti=ft SrEeTaEe Shefl, aR Wrelier GHflerroTa

Ans

usifR=gren (?) smft g Ader?
14+12+103-841x29=2
% 1.104

X 2.49

% 3.9

o 4.94

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

MCQ
630680272726
6306801059463
6306801059466
6306801059464
6306801059465
Answered

4

2

Q.10 &R, T, A sraaeun @refte Arferdhan deof w enfor usma IR ar. Aisoft & dhaes
STftergH IoTdiehs T orrg.
(M) AR%G7F4#6N@2<WJ&35L1*P>(I)

Ans

J 3r2ft foreft AR emda, Sarean drasala aneft Ter dar nfor drasdald widaz Ue 31eR &fie

ama?

o 1.2

X 2u&
X3d=

X 4. Taet T

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680272680
6306801059279
6306801059281
6306801059280
6306801059282
Answered

1

2




Q.11 A 31ifSr B a1 g1 dlegi=t Gent Ataar Edve sTgshd 60 fAfAeia snfor 40 fAfieia wrar aq. sk B
7 aTaR 31elf A5 ShedT ATTOT A T B I Qehfad aruR 31eif @ hedt, aR Repmr e yRuarard: faret

fafe amrdier?
Ans X 1.15ff@

o 2.30 fafRR
X 3.27.5ffF
X 4.20fafF

Question Type :
Question ID :
Option 11D :

: 6306801117810

: 6306801117809

Option 41D :
Status :

Chosen Option :
Marks :

Option 2 ID
Option 31D

MCQ
630680287475
6306801117807

6306801117808
Answered

1

0

Q.12 A/ frem/3 snfor frerd @ergder aran. frumived R mifgd & amruet 7ma awidan
NI ST STEese, A<t oft T 31rg o el e, R fAerufdd wtoran/a Ao

farem/Aieh aeheTe Smd/ e & v
fRrum: vd o=, @ smméa.

| urasy, A Sgd.

frsemd (1): pTét STRE, UTaSR 9@,

frsene (Il): < R, dmret e,
Ans X 1. fsad (1) anfoy (1) & &gt adhamra amad.
25 2. T ISR (1) TehaTd S8,

< 3. e (1) e (11) OeRY QemaT aeheTd ATel.

o 4. e (R (1) T ST,

Question Type :
: 630680277015
: 6306801076556
: 6306801076554
: 6306801076555
: 6306801076553
Status :
Chosen Option :
Marks :

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

MCQ

Answered
4
2




Q.13 P &1 Q U&it 30% 31feh Frfer omg. =i+t fAgg s deard, Yeheat P &g 23 feawia gof g%

ARUTTUT HIHTHTS! i fohelt A5 ARIeA?
Ans 1. 10feaw
X 2. 11f¢qq
«3 13feaw
3
X 4 20—fea9
17
Question Type : MCQ
Question ID : 630680287459
Option 11D : 6306801117743
Option 2 ID : 6306801117744
Option 31D : 6306801117745
Option 4 ID : 6306801117746
Status : Answered
Chosen Option: 3
Marks : 2
Q.14 sfiwelt =T ai-t gent farerom gaMTGA 10 kg 400 g |@igw, 15 kg 500 g 7Tg 311for 4 kg 600 g
HTER W dhefl. fat @l hetear awga QT aoi 2nte.
Ans  #1.30kg500g
/< 2.30kg400g
X 3.30kg450g
< 4.30kg 550 g
Question Type : MCQ
Question ID : 630680277270
Option 11D : 6306801077529
Option 2 1D : 6306801077531
Option 3 1D : 6306801077530
Option 4 1D : 6306801077532
Status : Answered
Chosen Option : 4
Marks : 0
Q.15 @reiie Aiferent adhgear gof ewvararsd! usiRgren (?) Srft 3R ue R gafgiga fAeer.
V29G, R26H, 0B3J, M20M, ?
Ans X 1.127Q
..f 2.L17Q
7 3.K25P
< 4.K28P
Question Type : MCQ
Question ID : 630680277022
Option 1 ID : 6306801076583
Option 2 ID : 6306801076582
Option 3 ID : 6306801076581
Option 4 ID : 6306801076584
Status : Answered
Chosen Option: 2
Marks : 2




Q.16 fRwar sieR-Tigi SEMed JFaeaT HsTuHTo" SHH e g2ffumT ser-ayg e
gafaiga Raer.

FJI : KON
OFC : TKH
Ans X 1.SQZ:YWE
< 2.DLO: JRT
< 3.JPC:PVH
«" 4. WGL : BLQ
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :
Marks :

MCQ
630680272704
6306801059378
6306801059375
6306801059377
6306801059376
Answered

4

2

v Ul AR aqd! fhAd @ren ge fbadien 12 udn feifed
Sdl ofor @M e feaden I fed. o1 wgalle ard
A Tghant Tl e

Ans " 1.19%
X 2.17%
< 3.20%
X 4.23%

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680287173
6306801116601
6306801116599
6306801116600
6306801116602
Answered

1

2




Q.18 wi=ar: 18 -[18 - {18 — (18 — 18) - 18}].

Ans X 1.36
X 2.1
3.0
X 4.5
Question Type : MCQ
Question ID : 630680277232
Option 11D : 6306801077380
Option 2 ID : 6306801077378
Option 31D : 6306801077377
Option 4 1D : 6306801077379
Status : Answered
Chosen Option: 3
Marks : 2
Q.19 Qeh 3 Iikehg afaror Rgten Sira amg. oft arer f291 2 km/h Snifor 4 km/h a1 A =rera
ST ST SATFOY HER TiAT Sigehd 9 Aehaie HTIOY 10 Vehegia siterisa. TR St ielt x Hex
STE, TR X T T QAT
Ans X 1.70
W 2.50
2 3.30
X 4.90
Question Type : MCQ
Question ID : 630680287412
Option 11D : 6306801117556
Option 2 ID : 6306801117557
Option 3 1D : 6306801117558
Option 4 ID : 6306801117555
Status : Answered
Chosen Option : 2
Marks : 2
Q.20 3Ty TURTHR, arftfer 40% =T 240,000 IFAR 1 auTd HHTEA TehdTe ret fahedl ade?
Ans X 1.328,564
o 2.%18,564
< 3.328,264
/< 4.318,264
Question Type : MCQ
Question ID : 630680287217
Option 1 ID : 6306801116775
Option 2 ID : 6306801116776
Option 31D : 6306801116778
Option 4 ID : 6306801116777
Status : Answered
Chosen Option : 2
Marks : 2




Q.21 feAear miferdha ? = SInft & araer ga?

24,149, 213, 240, 248, ?
Ans o 1. 247

< 2.249

% 3.251
% 4.250

Question Type :
Question ID :
Option 11D :
Option 21D :

: 6306801076624

: 6306801076623

Status :

Chosen Option :

Marks :

Option 3 ID
Option 4 ID

McQ
630680277032
6306801076621
6306801076622

Answered
1
2

Q.22 sieRvE @ieie IR sitsaidd {1 Siiear gt fRifde a7 aae g onfo angs i g

e TR gi4l. T TeTd 7 9o} 3ieRe S fAaer.

Ans X 1.BK-CL
< 2. XG-YH
X 3.JS—KT
W 4.2-LV

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680277540
6306801078610
6306801078609
6306801078612
6306801078611
Answered

4

2

Q.23 6 Tt g5 fohaa € 10 axe=an fashl fhaedigadt eng. ot fohar dlear cardharst aie.

Ans X 1.40% =TT
X 2. 60% T
o 3. 40% drer
X 4. 60% dter

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680287175
6306801116608
6306801116607
6306801116610
6306801116609
Answered

3

2




Q24 Iy WS EY L.

0.72 % 0.72 * 0.72 - 0.39 x 0.39 = 0.39

0.72 x 0.72 +0.72 x 0.39 + 0.39 % 0.39
Ans X 1.0.3333

< 2.0.333
w3033
% 4.0.3334
Question Type : MCQ
Question ID : 630680277249
Option 1 1D : 6306801077447
Option 2 ID : 6306801077445
Option 3 1D : 6306801077446
Option 4 ID : 6306801077448
Status : Answered
Chosen Option: 3
Marks : 2
Q25 1 e 22 AT 36 AT/ AT TF ST (% TE FLT AT ZHL AT 12
ATHI 56 HA/ATE AT AT UL L. HILA UTE Fielel UHOT AL (HeATHE) 9iar.
Ans X 1.159
2 2.200
X 3.139
..f 4.179
Question Type : MCQ
Question ID : 630680287422
Option 11D : 6306801117596
Option 2 ID : 6306801117598
Option 3 1D : 6306801117595
Option 4 ID : 6306801117597
Status : Answered
Chosen Option: 4
Marks : 2




